


(vii) Given that P(4) = % P(B)=2 and P(AUB)= %, e p(%) g
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(vii1) If a random variable X can take the values 0, 1 and 2 with probability
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and i respectively then the expected value of X 1.e. E(X ) =

(ix) In a binomial distribution, if n be the number of trials and p be the
probability of a success and g that of a failure in a single trial, then the

standard deviation of the binomial distribution is

(x) In z* test, the observed and theoretical frequencies agree exactly if
2
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2. Answer the following : v
(a) Derive a partial differential equation by eliminating the arbitrary function
from f(x+y+z, x2+y2+22)=0. ' (3)
(b) Solve the following : (Bx4=12)
@ 2y-2z)p+y(z-x)g=2"(x-2)
(i) 4 xyz=pg+2px’y+2qxy’.

(i) 22(p*x®+q?)=1.

3. Answer the following :
(a) Use the method of separation of variables to solve the equation
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0. | (5)

(b) Four cards are drawn from a pack of 52 cards. Find the probability that two
are spades and two are hearts. (3)

(¢) Assume that the probability of an individual coalminer being killed in a

mine accident during a year is . Use Poisson’s distribution to calculate

the probability that in a mine employing 200 miners there will be at least
one fatal accident in a year. (3)
(d) A random sample of 10 boys had the 1. Q’s 70, 120, 110, 101, 88, 83, 95, 107
and 100. Do these data support the assumption of a population
mean 1.Q. of 160? (4)
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